11091

VOLKSWAGEN PASSAT/ CC

(GROSS LOAD CAPACITY WHEN USED AS A WEIGHT CARRYING HITCH: 2,000 LBS. TRAILER WEIGHT & 200 LBS. TONGUE WEIGHT.\
***DO NOT EXCEED VEHICLE MANUFACTURER'S RECOMMENDED TOWING CAPACITY.***
WARNING: ALL NON-TRAILER LOADS APPLIED TO THIS PRODUCT MUST BE SUPPORTED BY AUXILIARY STABILIZING STRAPS.
** FAILURE TO PROPERLY SUPPORT NON-TRAILER LOADS WILL VOID PRODUCT WARRANTY**

J

Parts List

ITEM|QTY|PART NUMBER

DESCRIPTION

BOLT AS SHOWN. PULL
FISHWIRE, SPACER, AND
BOLT THROUGH FRAME
AND OUT MOUNTING HOLE.
USE FISHWIRE TO GUIDE
HITCH DURING MOUNTING AND PREVENT LOSS OF BOLT /
SPACER INSIDE FRAME RAIL.

~ROTE: SOME VEHICLES MAY FISHWIRE THROUGH END OF FRAME™

4 “-ACCESS
N woLe

o

1 2 |7/16-14x 1 1/4 | CARRIAGE BOLT
2 2 |CM-SP11 .250 x 1.00 x 2.50" SQUARE HOLE SPACER
3 2 |7/16-14 HEX FLANGE NUT
4 1 |CM-438-FW 7/16 " FISHWIRE TOOL
5 2 [M8-1.25x40 [HEXBOLT
6 2 |5/16" LOCK WASHER
7 2 |5/16" WASHER
FISHWIRE TECHNIQUE
INSERT COILED END OF FISHWIRE TOOL THROUGH
HITCH MOUNTING HOLE IN VEHICLE FRAME RAIL
AND OUT THE ACCESS HOLE. PASS COILED ’
END OF FISHWIRE THROUGH SPACER AND /
THREAD BOLT INTO COIL. KINK WIRE /
TO KEEP SPACER SEPERATE FROM 4,/"

EXISTING WELDNUT:!

TRIM FASCIA AS NEEDED
FOR BRACKET CLEARANCE

EXHAUST HANGER BRACKET

FASCIA PANEL

PASSENGER SIDE FRAME RAIL

DESIGNED FOR USE WITH
BALLMOUNT #55001 / 45501

1.

&

© ® N o o

Remove underbody panel by removing (5) torx head fasteners from underbody panel on passenger side.

Note: You can remove underbody panel or trim panel and reinstall, consult vehicle owner.

2. Remove (2) 8mm hex bolts from the exhaust hanger bracket on driver side.
3. Mark and trim fascia panel. Note: Dimensions are approximate, confirm fit prior to trimming. (See Trim Diagram)

Lift hitch into position. Using the hitch as a template mark and drill passenger side holes.

Note: Check that hitch is square on vehicle prior to drilling holes.

Install supplied fasteners as shown.

confirm fit prior to timming. (See Trim Diagram)

PERIODICALLY CHECK THIS RECEIVER HITCH TO ENSURE THAT ALL FASTENERS
ARE TIGHT AND THAT ALL STRUCTURAL COMPONENTS ARE SOUND. )

Fishwire bolts and square hole spacers into passenger side frame rail though access hole.

Sandwich hitch between the exhaust hanger bracket (removed in step 2) and the vehicle frame.

Torque all 8mm fasteners to 23 Ib-ft, and all 7/16" fasteners to 70 Ib-ft.

Mark and trim underbody panel to fit and reinstall if required. Note: Dimensions are approximate,

'|= 16.75in 1,50 in
TRIM . |
150 in | TRIM
1 1 1 1 1 1 (] 1
l 1 1 1 1 | 1
N\ 3.25 in--—-| Lo ) o]
RITCHWEIGHT, 21 L8S. NOTE: DIMENSIONS ARE APPROXIMATE
INSTALL TIME CONFIRM FIT PRIOR TO TRIMMING. USE.
PROFESSIONAL: 60 MINUTES RIBS OF THE PANELS AS CUTTING GUIDES,
NOVICE (DIY): 120 MINUTES WHEN POSSIBLE.
INSTALL NOTES: TRIM
- REMOVE UNDERBODY SHIELD UNDERBODY PANEL
- DRILLING REQUIRED TRIM DIAGRAM
- FASCIA TRIMMING REQUIRED
INSTALLATION STEPS )

-
7N -
& CURT sz

Trailer Hitches



http://www.carid.com/curt/
http://www.carid.com/receiver-hitches.html



